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Textbook : A Pathway to Success

Edited by : Ashok Chaskar, Anand Kulkarni, Vijay Madge
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt any one from (a) and one from (b) in about 150 words each. [20]

a) 1) Whatdid APJ Abdul Kalam learn from his father about the power
of prayer?

i1) How water is the true elixir of life according to C.V. Raman?
b) 1) Explain the points of falsehood in the advertising profession.

11) Comment on humour in the story ‘The Gold Frame’.

Q2) Attempt any one from (a) and one from (b) in about 150 words each. [20]

a) 1) Describe Ivan Dimitritch’s worries about his wife’s behaviour after
winning the lottery.

i) How does Henry Derozio describe the condition of harp?
b) 1)  Write note on the central idea of the poem ‘Money-Madness’.

11) Kunal meets his friend Ajit at a bus station. Two friends greet
each other and exchange few words before taking leave. Write a
dialogue in ten lines.

03) Attempt any one from (a) and one from (b) in about 150 words each. [20]

a) 1) Describe the chief principles and guidelines that have helped Indra
Nooyi achieve her ambitions.

11)  What, according to N.R. Narayan Murthy, were the ills of Licence
Raj?
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b)

i)

ii)

What is the author’s attitude in the essay ‘Toasted English’?

How does Narayan Murthy view the impact of Globalization on
India?

Q4) Attempt any one from (a) and one from (b) in about 150 words each. [20]

a)

b)

05) a)

b)

1)  Comment on the significance of the woodrose creeper in the story
‘The woodrose’.

11) Attempt a character-sketch of Rakesh from the story ‘A Devoted
Son’.

i)  Describe the conflict in the mind of narrator in a poem ‘Stopping
by woods on a snowy Evening’.

i1) Explain the theme of the poem ‘The Soul’s Prayer’.

Attempt any one of the following in about 150 words. [10]

i)  Write a letter to your brother encouraging him for doing best in
H.S.C. exam.

11) Write a brief newspaper report of two short paragraphs on the
following headline :
‘Daughter of Auto-Driver Becomes C.A.’

Attempt any one of the following in about 150 words. [10]

1)  There is a vacancy in Suzuki Motors Ltd. Banglore for the post
of Chief Accountant. Write your resume for the same.

11)  Write an e-mail letter to the Times of India at the e-mail address -

editor@timesofindia.com informing them the problem of
unhygienic condition in your locality.
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Instructions to the candidates:

1) All questions are compulsory.

2)

Q1) a)

Figures to the right indicate full marks.

Fill in the blanks (any 7) : [7]

i)  The basic objective of amalgamation of firms is to maximise ____
(Wealth, Profit, Business)

11) The liability of partners in a firmis ___
(Limited, Unlimited, Fixed)

m) The Partner has to bear the capital deficiency of an
insolvent partner.
(Active, Deceased, Solvent)

iv) The unallocable expenses under departmental accounting are to
be debited to ______ Account.
(General Profit & Loss, Department, Trading)

v) A _____is the documentary evidence for a business transaction.
(Ledger, Journal, Voucher)

vi) Royalty payable on an output basis is debited to ____ Account.
(Profit & Loss, Royalty, Trading)

vii) In Tally ERP 9 Shortcut key F4 is meant for _____ voucher.

(Contra, Receipt, Payment)

viil) As per AS-2, inventories should be valued at cost or net realizable

1X)

value whicheveris
(Higher, Lower, Expensive)

The cost of goods sold on hire purchase is transferred to
Account.

(Sales, Purchases, Assets)
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02)

b)

State whether the following statements are true or false (any 7) :  [7]

i) On amalgamation of firms, any gain in liabilities will be debited
to revaluation Account.

i)  When the firm is converted into a limited company, the firm is
dissolved.

111) Under Notional Loss Method, the maximum loss is distributed
among the partners in their capital ratio.
1v) In Departmental Accounts, each department is considered as a

separate profit centre.
v) All sales in cash or credit should be entered through sales voucher.

vi) If the actual royalty is more than the minimum rent, then minimum
rent is not payable.

vii) The right of recoupment can be fixed or floating.

viii) The buyer has the option to return the goods in case of a hire
purchase.

ix) The dissolution of partnership takes place on the solvency of
partner.

Write Short Notes (Any two) :

i)  Advantages of Amalgamation.

ii) Basis of Apportionment adopted in departmental Accounts.
iii) Significance of computerized accounting system.

iv) Features of Instalment system.

[16]

Sita, Gita & Nita were partners in a firm sharing profits and losses in the
ratio of 1:2:1. They decided to dissolve the firm when their position as on

31-12-2017 was as under : [20]
Balance-Sheet as on 31 December, 2017
Liabilities 4 Assets 4
Capitals : Fixed Assets 1,40,000
J Sita 72,000 Stock-in-Trade 80,000
. Gita 1,04,000 Debtors 40,000
. Nita 32,000 Cash 20,000
Sales Tax 10,000
Creditors 30,000
Reserves 32,000
2,80,000 2,80,000

The assets were realized gradually and the distributions were made as

and when cash become available. The realisations made in 2018 were as
follows :

24™ January — 1% Instalment - < 42,000
28" February — 2" Instalment - < 16,000
31% March — 3" Instalment - T 12,000
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Realisation expenses were estimated at ¥ 6,000 but in March the actual
expenses amounted to I 2,000. Nita become insolvent and could contribute
< 2,000 only from her private estate.

Prepare a statement showing the distribution of cash as and when realized
among the partners so that the effect may be given to the ruling in Garner
Vs. Murray case at each distribution stage assuming that nothing further
will be realised after the date.

OR

Following was the Balance-Sheet of M/s. Anand, Bhaskar & Chetan as on
31-03-2018.

Balance-Sheet as on 31 March, 2018

Liabilities 4 Assets 3

Capital : Accounts Land 80,000

* Anand 40,000 Machinery 50,000

. Bhaskar 60,000 Stock 34,000

. Chetan 80,000 Debtors 44 000

Investments 26,000

Creditors 40,000 Cash 4,000
Bills Payable 12,000
Reserves Funds 6,000

2,38,000 2,38,000

The partnership firm was converted into Ajmera Ltd. who took the
following assets at the values stated below.

Assets ]

Land 1,00,000
Machinery 40,000
Stock 30,000
Debtors 30,000
Investments 20,000
Goodwill 28,000

The firm paid the Creditors at 95% in full settlement and Bills Payable at
100%. The realization expenses paid by the firm I4,000. Ajmera Ltd. paid
< 1,98,000 in Equity Shares of T 10 and balance in cash. Prepare necessary
ledger accounts to close the books of the firm and prepare a Balance-Sheet
of Ajmera Ltd. as on 1% April, 2018.
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03) a) P & Q were partners sharing profits and losses in the ratio of 3:2 and X
and Y were partners sharing profits and losses equally. Following were

their Balance-Sheet as on 31 March, 2018. [10]
Balance-Sheet as on 31* March 2018
Liabilities P&Q X&Y Assets P&Q X&Y
3 3 3 3

Creditors 20,000 | 30,000| Machinery 40,000( 54,000
Bills Payable 8,000 | 10,000 Furniture 24,000| 18,000
Ms. Q’s Loan 20,000 —| Stock 40,000| 48,000
Ms. Y’s Loan - | 20,000 Debtors 38,000] 34,000
Outstanding Salary 4,000 3,000| Fixtures 3,2000 2,400
Capital Accounts: Cash 6,800 6,600

e P 60,000

e Q 40,000

e X - | 50,000

e Y 50,000

1,52,000 | 1,63,000 1,52,0001(1,63,000

The two firms amalgamated on the following terms :

1)  Mr. Q agreed to pay Ms. Q’s Loan & Mr. Y agreed to pay Ms.
Y’s Loan.

ii) Outstanding salary was paid in full by the respective firms.

1i1)) Creditors of both the firms were taken by the new firm at a
discount of 5%.

iv) Machinery is subject to 5% depreciation of both firm.

v) Furniture of X & Y was sold in the market for ¥ 16,000 and
Furniture of P & Q was not taken over by the new firm.

vi) Fixtures were not taken over by the new firm.

vii) Stock of P & Q was valued at ¥ 44,200 and Stock of X & Y was
valued at ¥ 42,000.

Prepare Revaluation Account and Partners Capital Account in the Books
of both the firms.
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b) Ajanta Ltd. Leased a piece of land from Baroda Ltd. for ten years from
I*t January 2013 with a royalty of 1 per tonne, on the condition that
minimum rent payable was 18,000 p.a. The lease however stipulated
that if in any year the minimum rent was not attained due to strike it will
be reduced proportionately having regard to the length of the stoppage.
The short workings can be recovered during the subsequent two years.

The annual output for the first five years was as follows :

Years Output

Tonnes
2013 6,000
2014 10,000
2015 18,000
2016 26,000
2017 16,000

During 2017 there was a strike lasting for four months.

[20]

You are required to pass necessary Journal Entries in the Books of
Ajanta Ltd. and prepare suitable table for necessary calculations.

Q4) From the following Trial Balance as on 31-03-2018 of Big Bazar Pune,
prepare Departmental Trading Account, Profit and Loss Account for the
year ended 31% March 2018 and a Balance-Sheet as on that date. [20]

Trial Balance as on 31-03-2018

Particulars Debit Credit
4 3
Stock on 01-04-2017
. Dept. X 30,000
. Dept. Y 24,000
Purchases :
e Dept. X 56,000
. Dept. Y 48,000
Sales :
. Dept. X 1,20,000
. Dept. Y 1,00,000
Wages :
e Dept. X 15,000
J Dept. Y 5,000
Rent, Rates, Taxes and Insurance 18,000
Sundry Expenses 6,000
Salaries 6,000
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Lighting and Heating 3,600

Discount allowed 4,400

Discount Received 2,600
Advertising 7,200

Carriage Inward 4,200

Furniture 6,000

Machinery 40,000

Debtors 12,000

Creditors 32,000
Capital 61,800
Drawings Accounts 8,000

Cash at Bank 20,000

Cash in Hand 3,000

Total 3,16,400 | 3,16,400

The following information is available -

i)  Dept. X transferred goods to Dept. Y for ¥ 800.

i1) The items like Rent, Rates, Taxes and Insurance, Sundry Expenses,
Lighting and Heating, Salaries and Carriage Inward to be apportioned
2/3 to Dept. X and 1/3 to Dept. Y.

1i1) Advertising to be apportioned equally.

1v) Discount allowed and discount received are apportioned on the basis
of departmental sales and purchases (excluding transfers)

v) Depreciation @ 10% p.a. on Furniture and Machinery is to be charged
% to Dept. X and Y4 to Dept. Y.

vi) Stock as on 31-03-2018 : Dept. X - T 33,000, Dept. Y - T 24,000.

OR

A Ltd. Purchased a Motor Cycle on instalment system from B Ltd. on

01-01-2015 by paying 12,500 as cash down payment. The payment of

instalments was agreed upon as follows :

31-12-15 1* Instalment T 12,750
31-12-16 24 Tnstalment T 11,750
31-12-17 31 Tnstalment < 8,250

B Ltd. Charged interest @ 10% p.a. A Ltd. decided to write off depreciation

@ 10% p.a. on Straight Line Method.

You are required to prepare -

1) A statement showing calculation of cash price.

i1) B Ltd. Account, Motor Cycle Account, Interest Suspense Account,
Interest Account and Depreciation Account in the books of A Ltd.
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Instructions to the candidates:

1)  Question No. 1 compulsory.

2) Attempt any five from question No. 2 to 8.

3) Figures to the right indicate full marks.

4) Draw neat diagrams wherever necessary.

Q1) What is Business Economics. Explain the nature and scope of Business
Economics. [20]

Q2) Define Price Elasticity of Demand. Explain the types and determinants of
price Elasticity of Demand. [16]

(03) Explain the Internal and External economics of large scale production. [16]

Q4) What is Monopoly? Explain the features and equilibrium under monopoly.

[16]
05) Explain the Ricardian theory of Rent. [16]
(06) Answer in brief : [16]
a) Economic Goals of firms
b) Characteristics of Indifference curve
Q7) Explain the Liquidity preference theory of Interest [16]
08) Write short notes : [16]

a) Concept of the Total, Average and Marginal Revenue.
b) Backward sloping supply curve.
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Instructions to the candidates:

1)
2)
3)
4)
5)

1) A)

All questions are compulsory.

Figures to the right indicate full marks.

Use of statistical table and calculator is allowed.
Symbols have their usual meanings.

Both the sections should be written in same answer book.

SECTION -1

Answer the following multiple choice questions by selecting correct
options from the given options. (Any four) : [4]

1)  Find the Highest Common Factor(HCF) of 43, 91 and 183
a) 4 b) 7
c) 9 d 1
11) 252 can be expressed as a product of primes as :
a) 2x2x3x3x7 b) 2x2x2x3x7
c) 3x3x3x3x7 d 2x3x3x3x7
iii) (17)* x (17)" = (17)}
a) 2.29 b) 2.75
c) 4.25 d) 4.5
iv) If 20% of a = b, then b% of 20 is the same as?
a) 4% of a b) 5% of a
c) 20% of a d) None of these

PT.O.
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V373
1 b 1
a7 ) 3
6 d 1
g ) 6
vi) Findx,if6:15::2:x
a) 3 b) 5
c) 13 d) None of these

B) Answer the following multiple choice questions by selecting correct
option from the given options. (Any three) [6]

i)  Ages of Ram and Sham are in the ratio 5:4 and their sum is 90.
Then their ages are :

a) 40 and 50 b) 50 and 40
c) 60 and 30 d) 45 and 45

11) What percentage of numbers from 1 to 70 have 1 or 9 in the
unit’s digit?

a) 1 b) 14
c) 20 d) 21
1i1) Find the Lowest Common Multiple (LCM) of 24, 40 and 36.
a) 120 b) 240
c) 360 d) 480

iv) Six bells commence tolling together and toll at intervals of 2, 4,
6, 8, 10 and 12 seconds respectively. In 30 minutes, how many
times do they toll together?

a) 04 b) 10
c) 16 d 15

[5515]-Ext.-104 2



02) Attempt any two of the following :

a)
b)

c)

[10]

Find the Compound Interest on Rs. 10,000 at 5% p.a. for 6 years.

Define the term Dividend and Bonus Shares.

What is the EMI (Equated Monthly Instalment) of loan of Rs. 30,000
repaid in 4 years, if the rate of interest is 5% p.a. on the outstanding
amount at the beginning of each month?

03) Attempt any four of the following : [20]
a) Define the term population and sample.
b) Find the mean of the following data :
Marks 0-20 20-40 40-60 60-80 80-100
No. of Students 8 12 25 15 10
c¢) Explain the procedure of drawing SRSWOR.
d) Calculate Median for the following frequency distribution.
Class 0-20 20-40 40-60 60-80 80-100
Frequency 1 9 32 16 7
e) Find the Combined Mean of the following data :
Group 1 Group II
Size 100 200
Mean 2100 1500

f)  Answer the following questions for the given frequency distribution :

1Q

60-69

70-79

80-89

90-99

100-109

110-119

120-129

No. of Students

21

37 51

49

21

13

4

1)  State the type of classification.

[5515]-Ext.-104

State the class-mark of 5™ class.

State the class width of 4™ class.

How many students have 1.Q. less than 109?

How many students have I1.Q. more than 100?




04) Attempt any three of the following :

a)

b)

c)

d)

e)

05) Attempt any three of the following :

a)

b)

c)
d)

e)

06) Attempt any four of the following :

a)

b)
c)

SECTION - 11

[15]
A T.V. set costing of Rs. 45,000 was sold for Rs. 33,750 after two
years find the percentage of loss?

At what price should an article costing Rs. 510 be sold so that after
giving 15% cash discount, a profit of 20% is made?

A company manufactures two types of Goods A and B, that requires
Silver and Gold. Each unit of type A requires 4 gm of silver and 1 gm
of gold, while that of B requires 1 gm of silver and 3 gm of gold. The
availability of silver and gold per day are 120 gms and 100 gms
respectively. The manufacturing cost per unit of type A is Rs. 920 and
that of B is Rs. 1600, formulate the above problem as a LPP to minimize
cost.

A man sold two machines at Rs. 990 each. On one he gained 10% and
on the other he loses 10%. Find the percentage of profit or loss in the
total transaction.

Define LPP and explain the steps in formulation of LPP.

[15]
Solve the following LPP by graphical method

Maximize f =200x + 300y

Subject to 3x + 2y <240
2x + 4y < 280
x>0,y>0

A commission agent get 10% commission up to sale of Rs. 25,000 &
15% commission on the sale exceeding Rs. 25,000. His total sales in a
month Rs. 55,000. Find his total commission.

Explain the term Decision Variable and Objective Function.

A man sold an article at a loss of 10%. If he would sold it for Rs. 75
more his loss would have been only 5%. Find the cost price of an
article?

Explain the concept of commision and brokerage.

[20]

Calculate the S.D. and C.V. from the following.

14, 8, 11, 10, 13, 16, 2, 12, 9, 5.

Define Regression? State the expressions for the two regression lines.

Calculate the S.D. from the following data :

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
No. of 2 8 10 15 12 8 5
students

[5515]-Ext.-104 4



d) Calculate Lasperys, Paasches and Fishers Price Index Number to the
following data:

. 2017 2018
Commodity
Price Quantity | Price Quantity
A 20 10 30 5
B 10 12 25 2
C 10 5 12 5
D 15 10 10 5
e) Explain the terms Positive and Negative Correlation with suitable
examples.

f)  Two workers on the same job shows, the mean time of completing the
job for Worker A is 30 min. and for Worker B is 25 min. and the
Standard Deviations are 6 min. and 4 min. respectively.

1)  Which worker appears to be more consistent in the time he requires
to complete the job?

11)  Which worker appears to be faster in completing the job?

Q7) Attempt any one of the following : [10]

a) Compute Karl Pearson’s coefficient of correlation between Sales and
expenses from the following data:

Sales(Rs.) | 28 | 45 | 40 |38 |35 |33 |40 | 32| 36 | 33
Exp. (Rs.) | 23 | 34 | 33 |34 |30 |26 | 28 | 31| 36 |35
OR

b) Solve the following :

i)  The correlation coefficient between two variable X and Y is —0.6.
If the means and S.D. of the two series are

X Y

Mean 13 27

S.D. 1.5 2
Find the regression line of Y on X, Also estimate of Y when

X=15.
11)  Explain the Concept of Cost of Living Index Number with example.

363636
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COMPUTER CONCEPTS AND APPLICATIONS
104-B : COMPUTER FUNDAMENTAL
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Instructions to the candidates:
1) Question No. 1 is compulsory.
2) Solve any 5 Questions from remaining (Question No. 2 to Question No. §)
3)  Figures to the right indicate full marks.

Q1) Attempt any four of the following : [4 x 5§ = 20]
a) Explain any three input devices of computer.
b) What are the basics of Ms-Word?
c¢) State the difference between LAN and WAN.
d) Explain the Components of Network.
e) Explain the E-commerce categories.
f)  What are the things to be consider while creating or building a website?

02) Attempt any four of the following : [4 x 4 = 16]
a)  Write in brief about printers & its types.
b) Explain the applications of Ms-Excel.
¢) Explain any two file organization methods.
d) Write a note on digital signature and digital certificates.
e) Explain E-cash structure.
f)  What is the use of control panel?

03) Attempt any four of the following : [4 x 4 = 16]
a) What is meant by Antivirus? Explain the types of antivirus.
b) Explain the working of Internet.
¢) What are the ethical issues in Internet security?
d) Explain E-Governance & its applications.
e) Write a note on Wireless Network.
f)  Explain Secure Electronic Transaction (SET).

PT.O.



04) Attempt any four of the following : [4 x 4 =16]

a) Define operating system and also state the functions of operating system.
b)  Write in brief about WWW and Search Engine.
c¢) Explain HTML tags to create table by giving proper example.
d) Explain the Web Space and Domain Name.
e) What are the advantages and disadvantages of computer network?
f)  Explain Financial Electronic Data Interchange (FEDI).
05) Attempt any four of the following : [4 x 4 = 16]
a) State the purpose of Start button, My Computer, Recycle Bin, Windows
Explorer.
b) Explain any two types of Computers in detail.
¢) Write a note on Star and Ring topology.
d) Explain the types of web pages.
e) Explain basic structure of HTML.
f)  What are the benefits of free and open source software?
06) Attempt any four of the following : [4 x 4 = 16]
a) Explain different tools available in paint application.
b) What are the importance of Ms-PowerPoint?
c¢) Explain the applications of Internet.
d) What are the importance of Cyber Law?
e) Explain the block diagram of computer.
f)  Write a note on Electronic cheque (E-cheque).
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Q7) Attempt any four of the following : [4 x 4 = 16]
a) State the difference between RAM and ROM.
b) Write a note on Electronic Data Interchange (EDI).
c) State the purpose of HTML tags :
<HR>, <SUP>, <UL>, <OL>
d) Write a note on Graphics in webpage design.
e) Explain the characteristics of computer.

f)  Explain in detail for Web Browser.

08) Attempt any four of the following : [4 x 4 = 16]
a) What are the applications of computer in business?
b) Explain the steps to create and send an E-mail.
c¢) Explain about Electronic Payment System (EPS).
d) Write a note on Internet security.
e) Explain Web Design Pyramid.

f)  What is difference between Notepad and Wordpad?

363636
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(FET T UTR)
gz :3 @ | [ T 797 - 100
g 1) o sRATR | st

2) U9 ShRHTE 2 @ § HEfiet ShIUTag! uTa U9 |,
3) SRS 31k YUl UT gYitaETa.

g7 1) eIl ShITAE! OR U9 Hiean [4 x 5 =20]
) TR HdeE! diF Input devices TIE FAI.
q) Basics of Ms-Word &mm.
&) LAN anfot WAN nefiet wies @,
8) Components of Network |mm.

%) E-commerce categories ¥E .

%) Website sHfAMT Haean Msin foram wren @nmt ?

Y97 2)  YEIUh! ShIvTaE TR 9 Higa [4 x 4 =16]
A) Printers U &1 ? AT THR AT,
&) Ms-Excel @ 3u=mt @mm.
%) File organization = $aeaTél 3 UL TIL .
8) Digital signature 3mfut Digital certificates amer fut forar.
3) E-cash structure ¥ag .

w) Control Panel = 3uam @mm.
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97 3)  UEcTUhl SoeiEl OR U9 Hige [4 x 4 = 16]
A) Antivirus U HE? AT THR T H.
a) Working of Internet ¥a® =/.
&) Ethical issues in Internet security $aet d €.
¥) E-Governance © 3uaRT T .
g) Wireless Network =R feu e,

%) Secure Electronic Transaction a8 .

97 4)  YEAUh! hIUTAE TR 99 Higa [4 x 4 =16]
a1) Operating System <t SIREAT T SATVT T ST G
a) WWW afur Search Engine aigge witgat fetat.
@) HTML tags to create table 3TEUMHEA €U .
g) Web space ot Domain Name T0® 1.
g) Computer Network = wrEe 311U die |,

%) Financial Electronic Data Interchange (FEDI) ¥u® =1.

97 5)  UETushl ShivTagl IR S Hiea [4 x 4 = 16]
a1)  Start button, My Computer, Recycle Bin, Windows Explorer ar=n
U= |,

) Computers o HIUAE! G TR TIE FH.
&) Star and Ring Topology amer feu ferar.
g) Web pages o YR TIE .

3) Basic structure of HTML ¥u® <.

%) Free and open source software = W= 9.
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Y97 6)  UEIcTUh! ShIUTAE! OR U9 Hiean [4 x 4 =16]

H)
=)
%)
3)
3)

%)

Paint application ®&iet tools T .
Ms-powerpoint = Wgea @I,

Internet = SUSNT €IE .

Cyber Law = "gea @,

Block Diagram of Computer ¥ .

Electronic cheque (E-cheque) =R feu fergt.

U7 7)  UEIcTUehl ShivTdE! OR U9 Hiea [4 x 4 = 16]

H)
)
%)
3)
3)

)

RAM snfot ROM wefiet weh |Rm.

Electronic Data Interchange (EDI) aer feu ferar.

<HR>, <SUP>, <UL>, <OL> =t HTML Tags =1 SuaiT @R,
Graphics in webpage design =R e fetar.

Characteristics of Computer ¥a® .

Web Browser ImeR @A USRI <=1.

97 8)  UEIcTUhl ShIVTAE! TR U9 Hiean [4 x 4 = 16]

)
)
%)
3)
3)

)

[SS15]Ext.-105

Computer in Business &1 3U=T gl d @R,
Create and send an E-mail ar=n s\ T8 *1.
Electronic Payment System (EPS) ¥ag =1.
Internet Security =mer feu fetar.
Web Design Pyramid ¥a® 1.

Notepad 3ot Wordpad It wieh @AM,
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Total No. of Questions : 8] SEAT No. :

P266 [Total No. of Pages : 2
[5515]Ext.-106

EY. B.Com. (For External)
OFFICE MANAGEMENT

Organisational Skill Development

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) Question No. 1 is compulsory.
2)  Answer any Five questions from Q. 2 to Q. 8.
3) Figures to the right indicate full marks.

Q1) Define the term ‘Office’. Describe importance and functions of Modern
Office. [20]

02) Whatis ‘Office Organisation’. Explain principles of Office Organisation.[16]

03) Define Time Management. Enumerate the advantages and disadvantages of
Time Management. [16]

Q4) Define the term ‘Index’. Describe various methods of indexing. [16]
05) Explain in detail significance and barriers of effective communication.[16]

06) Define Public Relation. Describe the objectives of Public Relation and
functions of Public Relation Officer. [16]

Q7) Define Office Automation. Explain advantages and feasibility of Office

Automation. [16]
08) Write short note : [16]

a) Principles of Designing Office Forms

b) E-Forms.

363636
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Total No. of Questions: 8]

P266 [S515]Ext.-106
F.Y. B.Com. (For External)
OFFICE MANAGEMENT
Organisational Skill Development
(2013 Pattern)
(TS EATR)
ge :3 @ | [ T 797 - 100
oA

1) www. | afad o

2) U9 hUTk 2 A § HEfiet vl 5 U9 wiga.
3) SeleRdet st TeA qul U1 ST

4) wRWETE Y FUS TAURIH! UgTEl.

797 1)
797 2)
797 3)
997 4)
997 5)

¥ 6)

v 7)

w7 8)

‘FTAR N Heheu-l SIREAT 1. S HEiear Hge d s Juid w1, [20]
HEATAT TEEA FZUTS 1 ? HATe™ GueAT! ded T8 . [16]
‘Yol SHATATYA T TUE Tl ASTHT SHAEATIAT T AT e T8 &40, [16]
‘IO T HeheUel SATEAT 1. “GRIIhIuTIeT ULt TS . [16]
TATIATE Aged TAY HEe THTE! TIVTEEATd JUTR 3TSUeS TR, [16]

‘THUh I HeheU<i SAREHT 21, SHEUh™ 3291 & SAHUh JATehr=aTe T T8
0. [16]

“HTETeTT TEHTTRIUT I Hehou-rel SATEAT 1. e TaaeicTeus! Hged a

S T . [16]
ofigeraTa feur feran. [16]
HA) FEHA THETEN dd

d) 3 Wi quTTe
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Total No. of Questions : 8] SEAT No. :

P267 [Total No. of Pages : 2
[5515]Ext.-107

EY. B.Com. (For External)
BANKING AND FINANCE
Fundamentals of Banking (Optional)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) Question No. 1 is compulsory.
2) Solve any Five questions from Q. No. 2 to Q. 8.
3) Figures to the right indicate full marks.

Q1) What is Bank? Explain the Evolution of Banking in Europe. [20]
02) Explain the primary and secondary functions of Bank. [16]
03) Explain the procedure of opening saving accounts in Bank. [16]
04) Explain the methods of Remittances. [16]

Q5) What is credit creation? Explain the process of multiple credit creation.[16]

06) State the meaning of Negotiable Instruments. Explain the features of Bill of

Exchange. [16]

Q7) What is endorsement? Explain the types of endorsement. [16]

08) Explain the types of Modern Technology in Banking. [16]
363636
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Total No. of Questions: 8]

P267 [S515]Ext.-107
F.Y. B.Com. (For External)
BANKING AND FINANCE

Fundamentals of Banking (Optional)
(2013 Pattern)

(AU TUTR)

ge :3 @ | [ T 797 - 100
ger:

1) www. | afad o

2) U HHH 2 A 8 Ul ShIvTad 5 Uga Hidl.

3) SSEhREA 3Tk T Ut I[UT guifaaTa.

4) TRWEE e SIS UgAuEhT UgTEl.
gy7 1) & TEUS T ? JUUTTE sieh STaHTETe Sehicl T8 . [20]
¥y72)  Wohelt MATHER 9 gEA HE T H. [16]
Y97 3)  ehd Sud WA SUSUATE! ShIHUeadl TqY &, [16]
97 4) O uisfouaTean ueadl T w5 [16]
Ty7 5)  UATTHA U T ? SgfaY gatdren Sihan ¥ w6 . [16]
TyT 6) aeem gEavaSTEn He . Rt wereh At wum w. [16]
U7 7)  USTehA TEUTS A ? USTEhATY ThR TIE . [16]
97 8) ok HEHETIA Y TAAF ThR TIL Tl [16]
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Total No. of Questions : 8] SEAT No. :

P268 [Total No. of Pages : 4
[5515]Ext.-108

F.Y.B.Com. (For External)
GEOGRAPHY
Commercial Geography (Optional)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) Question No. 1 is compulsory.
2) Attempt any Five questions from Q. No. 2 to Q. 8.
3) Neat diagrams must be drawn wherever necessary.
4)  Use of Map stencils is allowed.

Q1) Answer the following upto 20 words each. (Any Ten) : [20]
1)  What is Cultural Environment?
11)  What is meant by Resources?
1i1) Name any two tertiary economic activities.
1v) State two characteristics of Monsoon forest.
v) Define Agriculture.
vi) Define Over Population.
vii) What is Death Rate?
viii) Name any two cotton textile centers in India.
ix) State any two advantages of Road Transportation.
x) State any two disadvantages of Air Transportation.
xi) State any two advantages of Choropleth Method.
xii) Name any two factors affecting International Trade.

xiii) Define Trade.

PT.O.



02) Explain the important factors of physical Environment.

03) Explain the main types of farming.

Q4) Give an account of Iron and Steel industry in India.

05) Give an account of Tourism industry in India.

06) Explain Geographical factors affecting International Trade.

Q7) Explain the population characteristics of India.

08) Explain the Weber's theory of industrial location.

363636
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Total No. of Questions: 8]

P268

gz :3 ara |
AT
1)
2)
3)
4)

[S515]Ext.-108
F.Y.B.Com. (For External)
GEOGRAPHY
Commercial Geography (Optional)
(2013 Pattern)
(TS EATR)
[ @ 7707 - 100

e . | Aiefamt e o,
T3 SHATER 2 d 8 WYT HIUTdE 5 U9 TSIl STayaeh S8,

AT A Gk HTH HTal.
ARTIN Leq aTuuaE aaE o,

gp7 1) @it gel SW 20 visam forgt. (ivmg 10) [20]

Vi)

HIEehTceh UITERUT FEUTS i ?

H1EA HUST FFUTS hid ?

HIEH! SRUTTE HIVTTE g JT9TSe! 9.
et ST forat.

Sfaer AlREGEI S foTgl.

vil) TEIE U ®E ?
viil) WRATAE Telt ST ShIvTeTE g sheret A1a forer.

1X)
X)

X1)

T TTEqehI hIVTAE! g TIEe |,
FATS ATEhIa hIVTAE! 24 dle .
BT 9L VTl S EEe .

Xii) SNAWTE SATURTER URUTH FIUTR FHIUTAE! 2 T T,
Xiil) SATIRT=R saren forgn.



T 2)

w7 3)

T 4)

v 5)

¥ 6)

v 7)

97 8)

TTehitieh TATERUT HEwaT Ueeh TUE .

Jieia T TR T .

WRATAA FAgUIeATE ST Jid foTgl.

ARATAT TeieA JeTen Gfea Jid forgt.

HTAWET SHATIRTER TNUTH FHIOTR WM {oTeh Heeh I8 4.

WRAE ehEEa= AT T8 .

e SELET=AT TATfAehieRuTen e wE w9
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Total No. of Questions : 5] SEAT No. :

P269 [Total No. of Pages : 4
[5515]Ext.-109

EY. B.Com. (For External)
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization and Management in India

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All the Questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 20 words each. (Any Ten) : [20]
1)  Write any two characteristics of defence planning.
11) Explain any two importances of Logistics planning in war.
1i1) State the meaning of Counter Intelligence.
1v) State any two functions of Infantry.
v)  Write any two functions of Territorial Army.
vi) Write any two functions of army medical corps.
vii) Define Air-Power.
viii) State the meaning of mobilization of Armed forces.
ix) What do you mean by information warfare?
x)  Write any two characteristics of Signal Corps.
xi) Write any two limitations of Air-Power.
xii) Write any two functions of ministry of home affairs.

xii1) State the meaning of soft power.

PT.O.



02) Answer in 500 words : [20]
1)  Write a note on the organizational structure of Indian armed forces.
OR

11) Explain organization and functions of Ministry of Defence.

03) Answer in 500 words : [20]
i)  Explain power and functions of the president in relation to the armed
forces.
OR

11)  Write a critical note on the Indian intelligence organization.

Q4) Answer in 500 words : [20]
1)  Describe role of Indian Navy during peace period.
OR

ii) Explain about the role and limitations of infantry in war.

Q5) Write short notes on any two : [20]
i)  Five year defence plan
i1) C.R.P.F.
111) Nuclear war

iv) Role of NSC in defence planning

363636
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Total No. of Questions: 5]

P269

[5515]Ext.-109
EY. B.Com. (For External)

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization and Management in India

(TS T UTR)
ge :3 @ | [ T 797 - 100
g
1) @ vy Sisfan savas o,
2) IEIhEIA 37k UT gIifadTd.
g7 ]) el geAT=t IW 20 e . (SHivgl 9g) [20]

i)  ERe FREeEE R g A foermr.

ii) JLEwe Yael SATEIT RIVIAE! §iF Hgwd TIE .
iii) eATEe Sefora=an ared @nm.

iv) UTEEesT VA I T F.

V)  refvTeR Sl ST 3 % fora.

vi) et dafera A e wivdE 99 w e o
vii) FaTE ITeril SIIEAT =l

viii) BATEEATE T FEUTR T A T,

ix) HiEe AT JEaTaTaH! FEUTS hi ?

X) TUeh GETE SHIOTTE! g dfvTesl forer.

Xi) gaTS VierdeH ShivTeTEl A1 warien feret.

Xii) TEHATETATE UL S w forar.

Xiil) HTFE UTeR TgUTS T ?



T 2)

97 3)

777 4)

97 5)

500 vrsaia 3R forgr. (RioTagt )

i) YRR BTSN HeeATHe JRRES! drer feu o,
feRen

i) TR WATAATS! HEEAT JAT(UT hTel T .

500 vrsera SR fotgt. (g ueh)

i) ORAR AATEATe HeHidie TEudia tfermr ot et T .

feran
ii) WRAR gefetera dae ATer Afketere feuu forar.

500 vregra I forgt. (IOl Uen)

i) idal SIS WA A1feres o Wit forr.
fepen

ii) LTI UTagwTeaT HRTeRT JATUT WAl €98 .

feu ferzr. (iord 39)

i) RO YT TS

ii) <hfga aRaa wifera a@

iii) 3mUetEs geq

iv) wRetuT fesHTde T gRet uiwes Jiken
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Total No. of Questions : 9] SEAT No. :

P270 [Total No. of Pages : 2
[5515|Ext.-110

F.Y.B.Com. (For External)
CO-OPERATION

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) Q.No. 1is compulsory.

2)  Solve any five questions from remaining question. No. 2 to 9.

Q1) Explain the principles of Co-operation adopted by International Co-operative
Alliance in 1995. [20]

Q2) Define co-operation. Explain the objectives and scope of co-operation.[16]

03) Explain the contribution of Dr. Dhananjayrao Gadgil in co-operative
movement. [16]

(Q4) Describe the rural and urban co-operative societies. [16]

05) Critically examine the role of state Government to co-operative movement.

[16]
06) Explain the strength and weakness of co-operative movement. [16]
Q7) Evaluate the achievement of co-operative movement in India. [16]
08) Explain the future trends of Indian co-operative movement. [16]

09) Describe the arrangements of co-operative Education and training
programmes. [16]

363636

PT.O.



Total No. of Questions: 9]

P270 [5515]Ext.-110
F.Y.B.Com. (For External)
CO-OPERATION
(2013 Pattern)
(FOET EUTR)
gz :3 am | [ v 7797 - 100
e
1) uwaw. 1 Ak sravaes o,
2) 9. 2 9 Ul FIVTAE! Ut U9 TS,
o7 1) WOE SR 1995 Al fershReiean SR I=al deail Ui . [20]
Ty72) ORI SATEH Gl HEhIIE IGEISel SATUT SaTH TUeE . [16]
97 3) UEHN TS Si. YASTERIE MEies qrel ARTEH T . [16]
97 4)  Tmdior anfur vigdt TgeRrl ST GUiA . [16]
T¥7 5) AEHN ISasiiiel U AihRed Yk et ufteton . [16]
Y97 6) UEHN TSABIRI T SATUT TR T . [16]
97 7) WRAE Gghl ABaeedl I [ hIHTNE HedHdA . [16]
g97 8) WRATIA Hgehll Tbaciiel WiIehTel= STt T8 . [16]
go7 9) wgwm e sufor uvtemendien srares auia . [16]
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Total No. of Questions : 8] SEAT No. :

P271 [Total No. of Pages : 2
[S515]Ext.-111

EY. B.Com. (For External)
MANAGERIAL ECONOMICS

(2013 Pattern) (Optional)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  Question number one is compulsory.
2) Attempt any five questions from remaining.

3)  Figures to the right indicate full marks.

Q1) State and explain the nature and scope of Managerial Economics. [20]

02) Explain the objectives of business forecasting. Explain methods of business
forecasting. [16]

03) State and explain the law of variable proportions. [16]
04) What is elasticity of demand? Explain the types of elasticity of demand.[16]
05) Explain the role of multinational corporations in Indian Economy. [16]

Q6) Explain the concept of investment decision. What is average rate of returns?

[16]
Q7) Explain use and limitations of Cost Benefit Analysis. [16]
08) Write notes on : [16]

a) Acquisitions and mergers
b) Objectives of the firm

363636
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Total No. of Questions: 8]

P271 [5515]Ext.-111
F.Y.B.Com. (For External)
MANAGERIAL ECONOMICS
(2013 Pattern) (Optional)
(FOET EUTR)
gz :3 am | [ v 7797 - 100
e
1) w1 afam .
2) 3aa IPATIR! HIUTAE! UTe 9 HiEa.
3) SRS 3Tk YA YUt 0T gIifaT.
4) WS 5 TS U9 UPIht UgTe.
o7 1) TASEATIRIT AITETE FET AT ST AR o TS . [20]
gy 2) HIEETA YE SEN 3EErS TR . SEHEeal Yd e usgdt favrg .
[16]
¥97 3)  SecIc THIUTN e |nn g v = . [16]
97 4)  WRTUNRR Fa=iehal TgUTSt hi™ ? UHTUHEN da<iichd< JehR TT8 1. [16]
97 5) ARAE FUTTEAd TgUEE HgrSaTe Yiten ¥ . [16]
Y97 6) A9k U @ HehouAT TUY . TG URATET X TgUTS hi 7 [16]
97 7) @ —o fagewume suEnT it water T w5 [16]
g7 §) fem fommn. [16]

HA) HureA 3t fereeRn

=)

ei o s
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Total No. of Questions : 8] SEAT No. :

P272 [Total No. of Pages : 1
[S515]-Ext.-112

F.Y.B.Com. (For External)
ESSENTIAL OF E-COMMERCE

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  Question number one is compulsory.
2) Solve any 5 questions from remaining Q. No.2 & Q. No.8.
3)  Figures to the right indicate full marks.

Q1) Define E-Commerce. Explain its concepts, features and functions of
E-Commerce. [20]

02) Define EDI. Explain uses of EDI. Discuss various types of EDI. [16]

(03) Explain mobile commerce. Explain in details the advantages & disadvantages
in India. [16]

Q4) Define E-Trading. Explain significance & Limitation of E-Trading in India.
[16]

05) Explain E-Payment system. Discuss advantages & limitations of E-Payment
system in India. [16]

06) What is E-Marketing? Differentiate between E-Marketing and door to door
marketing. [16]

Q7) What is Digital Signature? Discuss the advantages & limitations for Private
Sector & Govt. Sector. [16]

08) Write short noes (any two) : [16]
a) Internet security
b) E-banking
c¢) E-Finance
d) Domain Name System
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Total No. of Questions : 9] SEAT No. :

P273 [Total No. of Pages : 2
[5515]|Ext.-113

EY. B.Com. (For External)
INSURANCE & TRANSPORT
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) Question No.l is compulsory.

2) Solve any five questions from the following questions.

Q1) Define the concept of Insurance. Explain the Need and Scope of Insurance.
[20]

02) Define the concept of Life Insurance. Explain the principles of Life Insurance.

[16]
03) Explain the importance of Transport in Economic Development. [16]
(04) Explain the challenges before Insurance Business. [16]
05) Explain the various Modes of Transport. [16]
Q6) State career options in Insurance Business. [16]

Q7) Explain the importance of 'Road Transport'. Explain the advantages and
limitations. [16]

08) Explain the various Hazards in logistics. [16]

09) Define 'Tourism'? Explain the scope of Travel and Tourism in Indian
Economic Development. [16]

363636
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Total No. of Questions: 9]

P273 [5515]Ext.-113
F.Y.B.Com. (For External)
o o aEgs
(2013 de+)
(FOET EUTR)
ge :3 @ | [ T 797 - 100
ger:
1) wvas. 1 Ao stavees .
2) U 2d 9 Ueh hIUTE UTel U9 TS,
go7 1) Torm dereumsi e . faramt TR @ s e . [20]
Ty72) A Hehoudl TUE . AT e TIY . [16]
yv7 3) i TR aTgqehiel e T8 . [16]
go7 4) Tom saamEndie steg TE w5, [16]
yy7 5)  STEchIEl faad Wen T . [16]
g97 6) foam sraamETde wReRiE fershea T, [16]
Tv7 7) T AIEqeh™ UEd TIE T WIES 9 die T . [16]
go7 8) Aiieshnsier fafay ywr= sreeus e w1, [16]
g97 9) ‘Uded TgUN H? VR e foerramed adearh sardt wuE . [16]
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Total No. of Questions : 8] SEAT No. :

P274 [Total No. of Pages : 2
[S515]Ext.-114

F.Y.B.Com. (For External)
MARKETING AND SALESMANSHIP
Fundamental of Marketing
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  Question No.l is compulsory.
2)  Answer any five questions from question Number 2 to 8.

3)  Figures to right indicate full marks.

Q1) Define Market. Explain various types of Markets. [20]

02) What is Marketing Environment? Explain factors of marketing Environment.
[16]

03) Define Market Segmentation. Explain Importance of Market Segmentation.
[16]

Q4) Explain factors affecting pricing decisions. [16]

05) Explain objectives and significance of Supply Chain Management. [16]

06) Explain advantages and limitations of Advertising Media. [16]
Q7) Discuss on Rural Marketing Mix. [16]
08) Explain classification of services in detail. [16]

363636
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Total No. of Questions: 8]

P274 [5515]Ext.-114
F.Y.B.Com. (For External)
MARKETING AND SALESMANSHIP
Fnudamental of Marketing
(2013 Pattern)
(TS EUATR)

ge :3 @ | [ T 797 - 100
oA

1) wyawaw | wrefo afa o

2) UsAHHIE 2d 8 YRl 5 U AiSfeut stavere .

3) SSEwREA 37 T Ui I[UT guifaaTa.

4) wRATETE HE FUSH TTAUTIR! TETel.
go7 1) SRUSER =R R awrus e s s w0, [20]
gy7 2) Toqum iR o 7 fRgum gaieru ges T w5, [16]
g97 3) a=rus favmiieume saren forgr. amus faurfieome ngea e . [16]
yv7 4) Tohwa Tivadior uiom FRum gesh T8 . [16]
T¥7 5) UGS UREsh IR 3fel oAUt e TUE . [16]
T97 6) ST WS Wb 0T HEtet TUS . [16]
gy7 7)  uwdior fequm e amer ust w6, [16]
go7 8) WA HITeRUT Afefa T8 . [16]
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Total No. of Questions : 5] SEAT No. :

P275 [Total No. of Pages : 4
[5515|Ext.-115

EY. B.Com. (For External)
CONSUMER PROTECTION AND BUSINESS ETHICS
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is consumer? Explain the rights and responsibilities of consumer.[20]
OR

Explain the procedure of filling the complaint under Consumer Protection
Act, 1986.

Q2) Explain the role of Voluntary consumer organisation. [20]
OR

Explain the composition and working of district and state consumer protection
councils.

03) a) Explain the United Nation's Guidelines for promotion of Sustainable

Consumption. [10]

b) Explain the issues involved with standard form of contract. [10]
OR

a) Explain the relation between Business and Ethics. [10]

b) Explain Objectives of Competition Act 2002. [10]

Q4) Explain the advantages and challenges of Social Responsibility of Business.
[20]

OR

Explain in details the Ethical Issues in marketing and human resource
management.

PT.O.



05) Write short notes on : (Any two) [20]
a) Challenges for voluntary Consumer Organizations
b) Ethics in production
¢) Scope of Right to Information

d) Indian consumerism

363636
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Total No. of Questions: 5]

P275

[S515]Ext.-115
EY. B.Com. (For External)

CONSUMER PROTECTION AND BUSINESS ETHICS

(2013 Pattern)

(AET EUATR)
ge :3 @ | [ ToT o7 - 100
oA
1) @ vy Sisfan savas o,
2) SSEIhREA 37k T Ut I[UT guifaaTa.
3) weuiaTd qes $ush wea uter ugreh.
go7 1)  UTEh TEUTS A ? UTgehTl gaeh SATUT WaTaail TU8 1. [20]
feman
UTEeh TRETh h1FEl, 1986 STaiid dshR GRE SHUATEAT fshal TI8 .
7 2) TEEEE UTEeh HoeATH! UiHehT T8 . [20]
feman
Rregr sufun vom Iges TReres uftwe=h =T 311Ut hmehe Gfeear T <.
Ty73) 1) G Y HETH! INAA AT A< A Tl T 0. [10]
q)  HHH FIRYATEAT Hewid Y2 TIE . [10]
feman
)  EEE T e T TEy TE . [10]
q) et e 2002 9 3T WY 1. [10]
%7 4) [20]

STk ATHTSh SR e SATUT TSgH T8 &,
fren
forum 3nfUT AHE FEEH SEEATATA e G Ao TS .



gy7 5) few fom. (s )
H)  TEEHE UTgeh HEed AT
) ScdreATe Hfaged
&) Wi AR @ STt
¥) WA UEehRdTE
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Total No. of Questions : 5] SEAT No. :

P276 [Total No. of Pages : 4
[5515|Ext.-116

EY. B.Com. (For External)
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern) (Optional)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to right indicate full marks.

Q1) Define the term Business Environment. Describe in detail the types of
Business Environment. [20]

02) What is Unemployment? Describe in detail the causes and remedies of

Unemployment. [20]

OR
What do you mean by Entrepreneur? Describe in detail the distinction
between Entrepreneur and Manager. [20]
03) a) Write a detail note on District Industries Centre (DIC). [10]
b) State the habits of Entrepreneurs. [10]

OR
a) Write a detail note on Maharashtra Centre for Entrepreneurship
Development (MCED). [10]
b) Write a note on Entrepreneur as a catalyst. [10]

Q4) Write a detail information of any successful entrepreneur from your area.
[20]

PT.O.



05) Write short notes on : (Any two) [20]
a) Local - Non-Government Organisations (NGOs.).
b) Importance of Entrepreneurship.
¢) Dynamics of Motivation.

d) Narayan R. Murthy.

363636
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Total No. of Questions: 5]

P276

[S515]Ext.-116
EY. B.Com. (For External)

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP

(2013 Pattern) (Optional)

(TSt EUTR)
ge :3 @ | [ ToT o7 - 100
ger: 1) wd gy Arefeot smayas g,
2) STREA 37k AT YUt 0T gIifaT.
3) wEHHE! Ues SIS U9 Ut UgTat.
gy7 1) SITEETeh UHITERUT A1 TRl SAREHT €N, SHTSHITeh UaTaruiTe YehR AfeRiqut guid
. [20]
¥97 2)  SUSHTH TEUTS R ? SRISHTRIE ShRUT 31fUT SUTrEi-T |fereawqut ot s, [20]
feren
SEISTeh ATUTER SATIUTTH 1T AT Fral ? IeSTeh SATTUT STEEATISh: AT Wleh
R0t Jui . [20]
go7 3) 1) Fieg som oy arer i du forgr. [10]
q)  SeIeRreA HEH |, [10]
fepen
) UERTY SRt faem hg (MCED) amer dferr &g ferar. [10]
d) IEh-Ueh IRk ITeR 4T ferar. [10]
97 4)  qEET W ShIUTeATE! A9REa SeNSTehTlt Witgd! Aioeawaut fotgt. [20]

3



gy7 5) few fom. (s )

1) Terfes forr—vmaehr wwen (NGOs).

) IR T
&)  IRUT AT

g) AR AR, H

363636
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Total No. of Questions : 8] SEAT No. :

P277 [Total No. of Pages : 4
[5515|Ext.-117

EY. B.Com. (For External)
FOUNDATION COURSE IN COMMERCE
(2013 Pattern) (Optional)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) Question No. 1 is compulsory.
2)  Answer any five questions out of Qu. No. 2 to 8.
3) Figures to right indicate full marks.

Q1) Explain in detail characteristics of co-operative organisation. [20]

02) a) Explain Partnership Deed and state the Contents of Partnership Deed.[8]

b)  Write short note on Internet Banking. [8]
03) Describe the role of Trade, Commerce and Industry. [16]
04) a) Explain meaning and features of Foreign Direct Investment. [8]
b) Explain meaning and features of Multinational Corporations. [8]
05) Explain fundamental principles of Insurance and write. [16]
06) a) Explain functions of Commodity Exchange. [8]
b) Explain importance of Business Ethics. [8]

PT.O.



Q7) Write meaning of following terms (Any eight)

a)
b)
c)
d)
€)
f)

2
h)

J)

E-Commerce
Franchise
Entrapreneurship
Labour intensive
Liberalisation
Mutual funds
Niche-market
Outsourcing
Patent

Public Relationship

08) Write short notes (any two) :

a)
b)
C)
d)

Advantages of Limited liability partnership.

Export - Import policy (2003-2004).
Turnkey management.

Secondary functions of Bank.

363636
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Total No. of Questions: 8]

P277 [S515]Ext.-117
EY. B.Com. (For External)
FOUNDATION COURSE IN COMMERCE
(2013 Pattern) (Optional)

(TS T UTR)

ge :3 @ | [ ToT o7 - 100
oA

1) www. 1 e sm.

2) U h. 2T U . 8 AYT UM UT T EEA.

3) SRS 3Tk TUT gV,
yy7 1) TN TFSATH ATl A qUiH . [20]
yy72) ) wrfiel faew o %@ @ 9 e gew form. [8]

q) ‘Fewe afwn feu fom [8]
yy7 3) AR, S0 SATOT ST e Stefeaerad YfireRt Ui . [16]
T¥T 4) 1) UTEhHT O Aaupshian 31ef STifur AfvTeet w. [8]

) g wu T sred Snfun Sedisl @i, [8]
yv7 5) Torarh gerae anE forema @ v forar. [16]
97 6) ) agatEErn (Commodity Exchange) @& #98 &A1. [8]

) ORI Yo Hged T8 . [8]



97 7) el e e JAm (RIvhE 3s)
A) T-HEd

&) SEISTRAl

g) muuH

3) AR

) U e
) v wreke

@) SSedityn
T) ue

W) Usclih ReivH

o7 §)  Tem forg. (wiorETd gH)
) vl qIa WEiEHre Wl
) e e grer (2003-2004)
®) eHehl HAwHE
T) kel g HE

363636
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Total No. of Questions : 5] SEAT No. :

P-278 [Total No. of Pages : 3
[S515]Ext.-118

F.Y.B.Com. (For External)
ADDITIONAL ENGLISH
(2013 Pattern)
Textbook : Gems of English Prose And Poetry

Edited by : Ashok Chaskar, Vijay Madge, Anand
Kulkarni

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any One from (A) and One from (B) in about 150 words each:[20]

A) 1) Why does Shiva say that the ‘grow more wheat’ package is not
suitable for Indian farmers? What solutions does she offer?

i1) How does advertising have an adverse effect on the mind and life
of the young?

B) 1) Comment on how the fortune-teller does business.

ii) Discuss the difference in behaviour between people in the past
and the present as discussed in once Upon a Time.

02) Attempt any One from (A) and One from (B) in about 150 words each:[20]

A) 1) Why does the traveller choose the less-travelled path in The Road
Not taken?

i1) Describe the narrator’s encounter with the bank manager in My
Financial Career.

B) 1) Bring out the significance of good manners in life with Hill’s
views in mind.

i1))  Whatkind of freedom does Tagore desire for his country in Where
the Mind is Without Fear?

PT.O.



03) Attempt any one from (A) and one from (B) in about 150 words each:[20]

A) i)
ii)
B) i)
ii)

What difficulties does Ray visualize in creating films that show
contemporary Indian life?

Write a note on the tone of the poem When We Two Parted and
give examples to support your answer.

What progress have the African Americans made in a hundred
years after the abolition of slavery?

How does Whitman use words to show the qualities of his God
in Gods?

Q4) Attempt any one from (A) and one from (B) in about 150 words each: [20]

A) 1) How would the disadvantaged sections of society get a better
deal according to Roy?
i1)  Write a note on the central theme of The Lotus.
B) 1) What is the central thought of the Chicago Speech?
ii)  Sketch the character of the alienated father in Father Returning
Home.
05) A) Attempt any One from the following in 150 words: [10]
1)  Describe the life of Mangal Singh in Duty.
i) How does the poet present the life stages of human beings in All
the world’s stage?
B) Attempt any Five of the following: [10]
a) Give synonyms of the following words or expressions:
1) little 1) quick
b) Give antonyms of the following words
1) true i1) clean
¢) Form a Word each by using the following prefix and suffix

[5515]Ext.-118



d) Choose the correct alternative and rewrite:
1)  She paid him a ---------- (compliment/complement)
11)  Our family planned a visit to Arabian---------- (dessert/desert)
e) Add appropriate question tag to the following
i)  Lokesh prepares a list of items.
i1)  He has chaired the meeting.

f)  Fill in the blanks in the following sentences with suitable

prepositions.
1) Rakesh wants -------- achieve success. (to/for)
i)  He is sitting ---------- the sofa. (in/on)

g) Give full forms of the following:
i) U.G.C. ii)) M.B.A.

363636
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Total No. of Questions : 6] SEAT No. :

P279

[Total No. of Pages : 4
[5515]Ext.-119

EY. B.Com. (For External)
MARATHI (¥R1&t)

IITRTIAT — SATEEIE & IUASTd WISt

gz :3 A ]

1)
2)

(2013 UeH)

T Eaeh :—1) F9TT
2) ATERIN d TR AS!
[ =T 7T - 100

ad g Wi sravae R,

T 1)

H)

)

WIAITR! hiuTeaTgl Ter foamer 500 viegm Feiy forgr. [10]
i) ot SeEeTE AR

i) =R aWE B

iii) i HAgR TS

iv) =R N greE

TreAtet Yehl SHIOTeTEY 3t e I 20 vrsar forar. [10]
i) =i SiNW AR A TeERTe’ ATEehTd Ut FTRER WHeHT hel ?
ii) T HAYTRR AT AU HIvTan et YEwR fesren ?

iii) Sf. T qreRaS T FHvTERIvTE Yo fremdisie e ug gufae ?
iv) @i T ATt AT ShIVTShIUTeT fodiaTean HiHT<aT Ueea (Hested ?

V) ol AR S e 2. . eneans i SemTe shivtean aiibehTtd
Tfeg el ?

vi) TEIRI Tiia TEiUUT ST I Tt 6 GRETIA ?

PT.O.



97 2)

7 3)

97 4)

vil) EeUERSTEe HIeRI [T fgars Tushies Tt S¥ theted sTef-ohda-e
ama fers.

viii) oft. geReiteg =R fean e reTeaT=h giF AfTER vt ?

iX) SIS qre I SHIUT RGN WTAT ?

X) WA dgeet I T6 HivT?

xi) et Wi T foret wreht ufgeht wen wivren mifkera SYa sl ?

Xii) ‘avimeT yiseRTen 31k T w.

WA Uehl hIUTeATEl IR 99t ST 50 vreem forgt. [16]
) Tayard guerre e st wmigd fora.

) gAY TEEE 91 ER ¢ e Gt TUerEET SEieT TE 9.

&) oi. faom WesR Tiea T ST heledl Sl U e @l

g) Eieret TEU UV SIS hil TN ? 39 S, TISHTS A1 ared.

3) o WY AR I Ueniiel’ HESTIed 9.

W) AT HAYER T UTYeRTIEATE U™ UTeTeT STER e .

At Yehl ShIVTATE S Teret I 150 vrsqra forat. [16]
) IR JeSTeh FEUT ARTSAT TR ShimeRt €98 .

F) feH dgee area fshohe SRR TRET UTeTen ST .

&) Torerurass uE . T AeRae e SeTTeten et w4

T) UH Tad aar foerad WU S, st ar] e foemih ut .

Welier Uit ShIVTeTE 2 TgATeh ST fergt. [16]

) T IEe et v, Atk o wedean mreafie B! ferdtes Sohar@hTe
U WITSAT=I 37Td. ATETS! 3T aaR &,

q)  TRW TR T TFRN Tehehs BUTS T TWRATATS! Thot HRTUN 3T hedl 3712,
1 IATHEHIA ARERe Tl HUITHTe! fewauiia 7am =,

F)  oft TghIl Sk AAiGa TEHER I1 HEATAT TN HAETERUT 993 3fagw aar
0.

T) U HEIOEeTarea ATt forenefi Sarea STt 36w Seree 3. @
YU 73R .

[SS15]Ext.-119 2



g7 5)  H)

97 6) )

=)

[5515]Ext.-119

Wefiedeh! T I 3T forgt. [8]
i) WIS T GURE S 3. et et aem w.
ii) R URTEAHS “aTuATe FHEhHEdH Ao &, a1 faweht fraes aan

<.
Wl Ueh! Teht feEITer JUATEE! et ohiE . [8]
i) oifearedt Tom e grieh wo.
i) =T R st
WIS Uehl HIVIEATE 378 TR @ forar. [8]
1)  Advance 11) Backlog
1) Digram iv) Circular
v) Increment vi) Pramotion
vil) Tender viii) Elected
1x) Visa x) Net profit

WA AT Ueh FATITIT ITEETd ARG e ™ WU iy =1.[8]

3 SR TO AT SEIEATEaT ST 9@ HUTR Shid-ehR §d. Ed e
Jreen "a', 38 @ guid 1. 3. ATeieet e SR, 9 arenesdR, Sicie
GUWRh Tegd T AT S HIREe o He(lqy [Heg hed. i dara
TG o Id e Hened e i TRl Hidad T W AT, a8
AU Al 3. TEATH, 0T, TIBHGTAT TR gdenen fedia sheft
HidA T 3. T THRH ARHNA Sietd, foTé 316, FhHN Jguia
TSNS T TR ST STATd. H HUT TR AT 378 SUTSRTS |ITUR
Tl 3T U AT, A Ve i arg (Fa3) AN § Aeger 1956 st
.
femen
3



Today science has opened so many travel routeson land, water and
sky and put so many vehicles on them, that geographical barriers as
almost ceased to exist. So many men and what is more, so many nations
are getting together that is the problem of human Unity is how more
important than ever before. What will unite those whom science is
bringing together?

363636
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Total No. of Questions : 5] SEAT No. :

P280

[Total No. of Pages : 3
[5515]Ext.-120

EY. B.Com. (For External)
Hindi (&)
(2013 Pattern) (Optional)

UGGk :— 1) 718 UREeT — HUTGeh—21. FHTE T

2) UG U — HUTGh—21. GHTE TR

aqg : 3 a2 [Tt : 100
q\ilqlﬁz

1) @it e sifemd € |

2) e oin ford ofe e & quttes ¢ |
g7 1) 31) FrataRaa U@ fordt v voa @1 s ferar @ folan | [10]

97 2)

i) e ¥ e gt R giean & SieA wad @ e fifw |
ii) ‘ugelt I wer 4 fFAfda sorarerear R g eifetu |

9) fFrafeRea o @ Rt v uen @1 s forar @ foifau | [10]
i) O Sfaa’ e # wafieh A gEh sfiad & SH-wE A g T §?
i) ofa Ut sftareaa 3 TE A TETE A R STy R TwEh ?

frfeRaa @ @ foredi im wroat < ST weig 4 foafau | [18]

1) ST WA Rt aiE - R |

F)  UTEH e i wen & TeH H a1 AR I HiH-hH | TG T g7

®) “oifENieh 81 o SSHTETE’ STiaHl | oiEe 4 U Sggaehdl o hi- | T[UT ¥
foru 2

g) Ul SR Yt o WIETH | SREeh  hiA—w1 et fam 2o

3) 7 TlE Y AR A W SR ST |

PT.O.



my7 3) TrafeRea @ @ fRedl dim woel < ST @eig ¥ fafau | [18]

H)
=)
%)
3)
3)

g7 4) R)

)

%)

[5515]Ext.-120

‘TN W T <hirT o gERT i 3 A wawt fean 22

T g o A T h-hi H IR T E ?

Fera hidan § wateE 3 faeran afgensi H =aon 9 we Fn e
T wie g frerm’ wfermn o o wfa 3 - wew e 2o

e e S 3 THaw geu Rl Tw IR TR e’ Ton w6 w2 e

frafaRaa # @ Rl @t sraaon it s = it | [10]
i) “TorE™ gorh o AT T g GST E 1| S HgRI | SO T
e 3an foran, 7€ @ wrliva o e ugan”
i) “H oTeH ygaA # weft Ik TE ATl W R UgAE § E g3 ugel
I 3 2 | STel, I & e wet |7
iii) g\ afgees nia & § @1 S | AR TS AR FHH AR Ik Il 5
TREAUT T AT ¢ gUR | 9 e & A | A9 Gen o |
fFrafaRaa # @ fordl 1 sraawon it Twe =omen fifu | [10]
i) iR vE W 9,
- F A T oA g@ |
TR =1 | st s,
I ARg |, Afg 3R |7
i) “FS 9 A T ot €, g - oda
3 it & o gfren =1 Bifeu |
<@ % SESg o geet T8, T &,
IR TATA, ITch! dHT 7 BifSU |7
iii) “‘uen o=t I dien I & foru S =,
7Y 3R v 3k T e |
frafaRaa o & =gl Uit Tl o Teh-ueh e | SwR fofau | [5]
i) g =i frma wm fomn ene
i) wogeE ®iF oar?
iii) weEwE fF wega §2
iv) WERIg ¥ aienfiertut i Hia fohem steft ?
V) U g el e R 32
vi) BN SieR’ hieran St shafiE w1 AW e @2
vii) ‘Fame wha H wakeh @h e
viii) ‘3Tefies’ St St Tt A o 22

2



g7 5)  H)

%)

3)

[5515]Ext.-120

frfeRem @ & forl ute wiiTiues vreqi & f&dt wartedt vreg feftam |

1) Act i1) Bond
ii1) Cash iv) Export
v) Grant vi) Loss
vii) Pay-Scale viil) Unit

Preferfiam & e T RImToR =1 sTa T R SR |
) SRH Y 7Y AT W R |

ii) <hITELih de w1 fammaA |

Frafeian ufiese =1 tw-fagr am fafau |

[5]

[5]

[4]

s H 319 T: A TSI Tiataier™l aiet o TUTd W1 & STenia g
wafera g it | clieh—Ra e S e T § | 9T ST TRt
TSI a1 o1 W YHTE oh TR W U & e o TR & @er e
AT @ | ST Tl T —aTE o INyarEA R ord ot foon @ 2 | o1 98 waen
R R 2 TR a8 37k Athe W@ # 31T @ I AL, 39 5| WU <hi Uek HAT ot
Y S Fehell 2 | TR oft Frgem @ snw o1 At 21 § Snes |- 3R

HEYH g | 9 clieha= 3R AT g1 ot 31ef U Uged Tz € |
freforRaa o & forelt vk o= 1 weu qaw AR |

[5]

i) v/ R, T, gor | vege, S i wErty, PR, go

o e W Wil g I forean/foreredt 2 |

ii) oTR/3TiNT hew, i, Yo O UehTITh, et Jeh19M, TR i &

Y Tepara wTem 3 wies forean/fored 2 |
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Total No. of Questions : 5] SEAT No. :

P-281 [Total No. of Pages : 2
[5515]Ext.-121

F.Y.B.Com. (For External)
GUJARATI

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Use of dictionary is not allowed.

3) All questions have to be answered in French unless indicated otherwise.

Yst- 4 ol Aol uiell A ue A5 QAN UR Aot @l (20)
1 HRARA ddaR
 ENYeR
3 viesl (Qeuell
¥ s s A Yd
Y- 2 516 UL A5 yst ol AR Gl vl (20)
q ¢oldldl oll 2a30ell @atctatr MR .
2 BdRIM o WA 52,
Y#t:- 3 516 QL Bls yat ofl AcRell? Gt ctull. (20)
1 Yot M A Wed otl 5B, uul 5.
2 (AR ofl worell sicat Hi Aot (AR12 edlot ude B2 dmencl.

PT.O.



YR Y () &sotlcull. (818 ueLals) _ (10)
1 st alell of s e 52,
R vdAA atdl ol 2llan 53,

() gsolltl AWl (5165 uRL A ) (10)

. @l ol o st el 1ol v 1uuendl

R Yot M ofl sAcUV Ui vutu(H sl
A U (1) yalur woiu el (As ae As ual) - (10)
1 udcll dlst A Ml uedl Actt A {2l A sRetel A uRplal Ha ot dl 1Rl ud
2 gelRl AUl dl §R of Y ol £ W ol HAL
3 dd od yu yelAsd.
¥ Yalol i yg A ofldR.
Ys W () UAAQuel | (10)
R Yl Hi 8L dAMIRL YU oll Bojeicl QA Rl o ust e,
Al

WS Aulel

il BlAwHI G At allBleicl Yidle] clglet 5l WBCUE AR A5 AGEL Hi G,

363636

[S515]Ext.-121 2



Total No. of Questions : 4] SEAT No. :

P1349 [Total No. of Pages : 2
[5515]Ext.-122
F.Y.B.Com. (For External)

SINDHI
(2018 Pattern)
Time: 3 Hourg [Max. Marks : 100
gar | : 1) A garet 7 g f& 10 () gares s e forat: - [20]

g.1) g g s gge

g 2) ‘et N A uTe H gt Fafeean oft faet

g.3) T Uiet @ Hemh Bt e o ?

g.4) FrgEe vewm S wE 8

g.5) 3yl Aaamfier si fern oe daet o fordier § ot desht ag?
g.6)  Tritet it et wis fifa @i wie aftar @ g8 2

g.7)  Ton s sm Rt @e

g.8)  IATRIE S TS HE A2

g.9)  fu=-2 srmem 4 wd w siaf g8

g 10) wadaymi A g a wr s oA @re

g 11) ol oE gEe

P.T.O.



g. 12)

qare |l :

g1)

g.2)

g.3)

g.4)

gaw |1l ;

g 1)

g.2)

g.3)

g.4)

qar 1V :

g.1)

g.2)

g.3)

TE TS o AR B H G5 7

Sty garert i foef fa 2 () e < e fort: - [24]
“Fangd” hiae § wfen’ wigst Few uv wn enfaf e

X HA N HEA S WYy AU, AR B T w2

“geh R urde 2 i § Tfig R Sver @ TR oo wg ot = ?

Feafy wi fof ' Rf garaty < wrama fora: - [36]
TR § era Rt 3 fReR S SR A g ¢

“‘had St AW ol 3 YATaTen YU Wit U T2 Uit |t Hed <hiat ot g
JR?

Taea v wal foet e, seerg Wt o) ® e aaw gig et St el s
TR g AR ?

FYa AUt FHAT S hige TR fEa

gfoa w &g T R o aom fora: - [20]
T — S U, SEanh - JgE Ed

R fRm feew v

TeWe 3R

ofo ot oo

[5515]Ext.-122 2



Total No. of Questions : 5] SEAT No. :

P-282 [Total No. of Pages : 2
[S515]Ext.-123

F.Y.B.Com. (For External)
URDU GENERAL PAPER

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Attempt All Questions.
2) Figures to the left indicate full marks.
A) Bang-e-Dara Part - 1 B) Mazammen-e-Mujtaba Hussain

(20) By St R e
L
kSt
(20) _EAEUmAS T Ay

L
(20) _ak & e ik GoEL GEtsa
_ZaFbn LT E Ay
L
_ifjﬁ%urtmﬂapo&fﬁ
(10) -zé‘i»u%("";gf (I
bF o der e
(10) BB oFLs (O
Gtedleslor U Ly Sy
(10) A enipnd Lo § B SN (N0

PT.O.



(10) GLIN-ZEPIFE IS S o0r (I8
2o It s 2t Ll/ﬁsfi’)fijfu):{ al
d/ftf.lgﬂld{ﬁw‘/.:-&?yl;‘ djd@l}ld%@)ﬂdgjj 4

Ui 2L e b e A r
Lflu‘u.’:,gﬁum;;‘/ c'_.d»ulg:g,au,ﬁ/"(a -r
VAL e e Skt o

wzuuwu‘}q_pugy d}huﬁﬁj&".@‘-alf: N
L L2 5845 (UnJlin Ll I3 e s T ¢

363636
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Total No. of Questions : 5] SEAT No. :

P-283 [Total No. of Pages : 3
[5515]Ext.-124
F.Y.B.Com. (For External)
PERSIAN GENERAL -1
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

@/ Defne  and WusTrale  any ofen 4} Sha
, 90

74'//0004;% ] ¢
v ” e ) (V) bl O
B o E) R aah
MEWM)J/“U»?’ Ay £ o o, e (W ?:«—/ (P
- ’ s (1 'v/',,_.&J< D) r‘[;»c/;_/(/a)
O2:h define any wo F A folTwing. g
b Flr (P ‘U;‘} r g+ (W

(B Keprodice in your gun ool any wo of

~he. ﬁ (o u.?/"jﬁ .l:

/
4 ¢ v Lo v
z 0 : J
///‘_J—-/-' (chr aol= ool

PN

Q3. wrd awy o ) S ol R
& @H)MQVJ7‘ on A s 15’7'1'7’/"« 9 QM/IZ-

20
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Total No. of Questions : 6]

P-284

Time : 3 Hours]

Instructions to the candidates:

1)
2)
3)

SEAT No. :
[Total No. of Pages : 5

[5515]Ext.-125
F.Y.B.Com. (For External)
FRENCH

(2013 Pattern)
[Max. Marks : 100

All questions are compulsory.

Use of dictionary is not allowed.

All questions have to be answered in French unless indicated otherwise.

Complétez le

dialogue suivant (UN AU CHOIX): [15]

M. Delpierre va chez un chocolatier. Il veut un assortiment de chocolats. Il parle au
vendeur.

M. Delpierre :
Le vendeur :

M. Delpierre :
Le vendeur :
M. Delpierre
Le vendeur :
M. Delpierre :

: Je ne sais pas...

Bonjour monsieur.
Bonjour monsieur. Vous voudrez... ?

Lesquels voulez-vous ?

Bien siir. Ce sont le chocolats au lait classiques. Ceux-la sont aux épices.

Le vendeur :
M. Delpierre :
Le vendeur :
M. Delpierre :
Le vendeur :

M. Delpierre :

Ceux-ci sont des chocolats noirs, moins sucrés.

Oui, monsieur. Vous pouvez goiter.

Alors, donnez-moi 3

Alors, c’est un paquet de chocolats noirs et un paquet de chocolats au lait
classiques. Merci monsieur.

Merci et au revoir monsieur.

ou

A. Mme Joibext la directrice de la Société appelle son assistante Frangoise pour
vérifier son planning. Elle va aller a Lyon pour son travail. Complétez le
dialogue.

Mme Joubert ;

Frangoise :

Mme Joubert :

Francoise :

Mme Joubert :

Frangoise, vous pouvez venir ? Je voudrais
Oui, oui, j’arrive.

Alors, je vais travailler )
Oui, madame. Vous allez partir de |’aéroport Paris — Orly terminal S.

PT.O.
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Frangoise : Le vol, c’est & 7h 40. Vous arrivez & Nice a 8h 50.

Mme Joubert : Et le soir ?

Frangoise : Le soir, vous rentrez a 9 h. Le vol est & 7h 40.
Mme Joubert :  Parfait !

Grammaire et vocabulaire

Mettez au pluriel

Le client réserve le billet pour le voyage.
La secrétaire remercie le directeur.
J’aime bien le plateau-repas.

Donnez le féminin des mots soulignés:

Le voyageur anglais parle bien le francais.

Donnez le contraire du mot souligné:

IIs va souvent  I’étranger.

Elles aiment le savon de Marseille.

Complétez avec de,du, de la, de I, des:
Les voyageurs demandent le prix billets
L’ingénieur consulte les dossiers clients.

Complétez avec 4, au, a la, a I, aux:
Nous sommes hotel.
Paul parle réceptionniste.

Complétez avec des adjectifs démonstratifs:
entreprise se situe a Toulouse.
appartement est au troisiéme étage.

La maison donne sur____rue.

Complétez avec des adjectifs possessifs:

Sophie téléphone a mere.
M. Giroudet a deux filles. filles sont ingénieurs.
Le directeur donne des instructions a secrétaire.

Choisissez la forme correcte du verbe:

Les clients demandent/demandes 1’addition.
Tu vient/viens de la Suisse.

11 faites/ fait la cuisine.

Mettez les verbes entre parenthéses au temps donné:

Les clients (arriver - passé composé) le 16 décembre.

Nous (diriger — présent) I’ensemble des activités de I’entreprise.
Le réceptionniste (faire — présent) les réservations.

[SS15]Ext.-125 2
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Trouvez I'objet direct: 3]
L’hotesse sert les repas.

— G

o

Le directeur finit son travail.
Vous apportez la carte, s"il vous plait?

(]

K. Complétez le texte suivant avec les mots donnés ci-dessous: 2]
(tramway, villes, différents, en)
Dans les grandes francaises. il y a types de transport
commun : . métro, , trains de banlieue.

Dites vrai ou faux: (3]
Le personnel peut prendre ses repas dans les bureaux.

Un certificat médical est obligatoire en cas de maladie ou daccident.

Les grandes entreprises ont de 100 a 240 employés.

w o

=

Ecrivez en mots: 3]
1) 127 2)87. 3)67

Quelle heure est-il?; 3]
2h45

1h30

15h15

ol el

Répondez aux questions suivantes (3 au choix): [6]
Nommez deux types de restaurants en France.

Quel est votre plat favori?

Nommez une entreprise de votre pays.

Nommez une entreprise frangaise.

B —

B. Reliez les deux colonnes [4]
A. B.
a. Un boulanger |.existe depuis 50 ans
b. Une agence 2. Une bouchere
¢. Le savon de Marseille 3. une boulangere
d.Un boucher 4, De voyages

Q4. Ecrivez en forme de paragraphe: [10]
A.  Décrivez le processus de fabrication du jus d’orange . Utilisez les mots suivants: laver,
remplir, fermer, stériliser, refroidir, envoyer, des cartons, des distributeurs.
Pour cela utilisez les mots connecteurs — d"abord, puis, apres, avec, dans...

ovU
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B. Voici I'organigramme de I’entreprise HELIX.

Directeur General -
M. Roger Ducaisse

Assistante - Nancy
Marlot

Responsable des ventes
- Bernard Dupont

Responsable
marketting - Pierre
Chardonnay

Responsable de
|'administration des
ventes - Paul Giroudet

I

7 assistants
commerciaux

l— 2 chefs de produits

l—— 2 assistantes

Q.5. A. Traduisez en anglais:
Le savon de Marseille.

Le savon de Marseille existe depuis 50 ans. Il est composé de 72% d’huile végétale et de

28% d’eau.
Voici comment on fabrique ce savon :

D’abord, on mélange des huiles végétales avec de la soude. Ensuite, ce mélange est

chauffé entre 120°et 130°C.

Apres une journée, on enléve ['eau et on rajoute de la soude. On obtient une péte

qu’on fait cuire plusieurs heures.

B. Traduisez en francais (5 au choix):

Il

oy o e Lo b

[t is prohibited to smoke.
She is very organized.

We have a range of 300 products.
They offered to do an exchange.
You have 5 weeks of paid leave.

First, I choose a salad.

Q.6 Compréhension de texte:

Jean:

Nicolas: Trés bien, merci. Je suis allé en Chine pour notre nouveau projet de construction.

Jean :

Ah, Nicolas! Comment vas-tu?

Et tu es parti combien de temps?

Nicolas: Juste trois jours.
Jean:

[5515]Ext.-125

Comment ¢a s’est pass¢?
Nicoals: Je suis arrivé a Shanghai lundi matin et " ai rencontré le chef de projet chinois.

[10]

[10]



Jean: Et, tu as rencontré les ingénieurs chinois?
Nicolas: Oui, lundi soir. j’ai diné avec eux et nous avons eu une réunion de travail mardi

matin.
A. Dites vrai ou faux:
1. Nicolas est allé en Chine.
2. Il adiné avec les ingénieurs chinois.
o
2.

Nicolas est allé en Chine pendant 6 jours.
B. Trouvez le contraire de ‘parti’ dans le texte.

C. Donnez 'infinitif de ‘eu’.

363636
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Total No. of Questions : 5] SEAT No. :

P285 [Total No. of Pages : 8
[S515]Ext.-126
F.Y.B.Com. (For External)
GERMAN
Advanced

(2013Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
Use of a dictionary is not allowed.

Frage 1. Ubersetzen Sie 122]
(A) Ubersetzen Sie den folgenden Text ins Englische oder Marathi! (16)

Ich habe ein Problem mit meiner Schwester. Sie heillt Susanne und ist nur ein Jahr jiinger als ich.
Bisher sind wir eigentlich ganz gut miteinander ausgekommen. aber jetzt gibt es richtig Arger!
Meine Schwester nimmt namlich eintfach meine Klamotten und zieht sie an. Und sie fragt nicht
einmal! Gestern zum Beispiel ist es wieder passiert: Vor »swer Tagen war wch i der Swade Ieh
hatte ziemlich Geld gespart, mein ganzes Taschengeld von letzten drei Monaten. Ich wollte
richtig schén einkaufen. Ich habe auch ein paar tolle Sachen getunden. Ich war so gliicklich. Ich
bin nach Hause gegangen und habe meiner Schwester die neuen Klamotten gezeigt. U nd am
Samstag. war meine Schwester zu einer Party eingeladen. Da habe ich geschen. sie hat meine

neue Sachen an! Ich war so sauer!

Aziza Hansen kommt aus Japan. Sie lebt jetzt in Deutschland aber ihre Staatsangehorigkeit ist
Japanisch. Aziza Hansen wohnt in Hannover und ist Sekretdrin von Berut. Ihr Ehemann ist
Deutscher. Sie haben zwei Tochter. vier und zwei Jahre alt. Sie fiihlt sich wohl in Deutschland.
sie arbeitet als Verkduferin. Aziza mag die Deutschen. Am meisten tindet sie die Deutschen
freundlich. ,,Natiirlich gibt es auch unsympathische und unhétliche Menschen. aber das ist in

Japan auch nicht anders™. meint Aziza.

(B) Ubersetzen Sie ins Deutsche! (Nur 3) 16)
The city Leipzig hosts many books fairs every year.

Her friend. who is working with her. is also her neighbor.

Parents ottesn get lonely when their children leave then.

People from all over the world visit Germany during the Okiobertest.

B 1 —

Frage 2. Beantworten Sie die folgenden Fragen! (Nur 5) [15]

1. Wohnen Sie bei lhren Eltern? Was erlauben Sie IThnen? Was ist lhnen verboten?

2. Treiben Sie regelméBig Sport? Warum? Welches Essen empfehlen Sie. um fit und gesund
zu bleiben?
3. Schreiben Sie kurz tiber zwei Deutsche Feste!

PT.O.



4. In welcher Stadt Deutschlands méchten Sie gern wohnen? Warum?

5. Was denken Sie tber Piercing und Tétowierung? Welche Probleme kann es damit geben?

6. Schreiben Sie tiber die Eigenschaften von Ihren Freunden! Wie wichtig ist Freundschaft
im Leben?

7. Welche Sorten von Brot und Wurst gibt es in Deutschland?

Frage3. Lesen Sie den folgenden Text und beantworten Sie die folgenden [10]
Fragen!

Susan Hein arbeitet im Lufthansa Callcenter in Kassel. ..Ich muss beruflich viel telefonieren. Ich
kann Englisch und Spanisch sprechen. also bekomme ich Anrufe aus Gropbritannien. Spanien.
Siidamerika und den USA. Meine Kolleginnen und ich sitzen zusammen in einem Biiro. Wir
beraten unsere Kunden am Telefon. informieren sie iiber Flugzeiten und reservieren Flugtickets.
Wir missen am Telefon immer freundlich sein, das ist nicht leicht. Unsere Arbeitsacit ist
flexibel, aber wir miissen manchmal auch am Wochenende arbeiten. Ich habe dann wenig Zeil
fir meine Familie. Meine Tochter ist leider keine Hilfe im Haushalt - sie kann stundenlang
telefonieren, aber sie kann nicht kochen'™

Jan Jacobsen arbeitet in einem Fitness-Studio in Bochum. .Mein Beruf ist sehr interessant. Ich
bin Trainer und leite jeden Dienstag und Donnerstag einen Aerobic-Kurs. Ich kontrolliere die
Sportgerdte und berate unsere Mitglieder. Ich schreibe einen Plan fiir die Sportkurse oder
organisiere auch mal eine Party. Meine Arbeitszeit ist von 10 bis 20 Uhr mit zwei Stunden
Mittagspause. Ich arbeite auch oft am Samstag. aber am Sonntag muss ich nicht arbeiten. Ich
mag meinen Beruf, aber ich kann meine Freundin nicht oft treffen. Sie ist auch Aerobic-
Trainerin. Im ndchsten Jahr arbeiten wir zusammen als Animateure in einem Sport-Club in
Spanien. Das ist unsere Chance! Wir kdnnen dort zusammen das Showprogramm organisieren
und unsere Sportkurse planen.”

(A) Beantworten Sie die folgenden Fragen zum Text! (6)

I. Welche Aktivititen unternimmt Susan Hein bei Lufthansa-Callcenter?

2. Nennen Sie die Aufgaben von Jan Jocobsen als Trainer!
3. Welche aus den zveei Berufen finden Sie interessanter. Warum”
(B) Richtig oder Falsch? (3)

1. Susan Heins Tochter hilft ihr bei dem Haushalt.

(S

Susan Hein arbeitet allein im Biiro.

()

Jan Jacobsen ist ledig.
(C)Schreiben Sie um! Verwenden Sie dabei: nicht nur... als auch) (1)

Wir kénnen dort zusammen das Showprogramm organisieren und unsere Sportkurse planen.
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Fraged4. Grammatik [20]
(A) Schreiben Sie die Siitze in Passiv! (Nur 5) (5)
1. Man hilft dem alten Mann.
2. Martina hat Peter fiir die Party nicht eingeladen.
3. Der Lehrer beobachtete die Vogel.
4. Im Zoo darf man keinen Alkohol trinken.
5. Die Sekretiirin hat viele Briefe geschrieben.
6. Jochen repariert die alte Uhr.
(B) Ergiinzen Sie das richtige Verb im Priteritum! (Nur j) (5)
(konnen, besuchen, gehen, sein. anfangen, schreiben)
1. Frither ich zu Fu3. Heute fahre ich mit dem Auto.
2. Gestern das Konzert leider sehr spiat
3. Wir am Wochenende keinen Picknick machen. Es hat stark geregnet.
4. Sarah nur 15 Jahre alt. als sie den schrecklichen Unfall hatte.
5. Friiher man mit der Hand . heute tippt man alles schnell
am Computer.
6. Letzte Woche ~uns unsere GroBelten. Wir vermissen sie sehr.
(C) Verbinden Sie die Siitze! (Nur 3) (5)

(wihrend, zwar...aber, obwohl, well. wenn. sowohl... als auch)

1. Ich kaufe die schone Halskette nicht. Sie ist sehr teuer.
2. Sie liest das Buch. Es ist sehr langweilig.
3. Esist Sommer. Wir fahren immer in unsere Heimat.
4. Peter ist intelligent. Er ist reich.
5. Die Kinder schlafen. Der Vater schmiickt den Weihnachtsbaum.
6. Das Wasser ist kalt. Ich schwimme trotzdem.
(D) Ergiinzen Sie die Relativpronomen! (Nur ) (5)
1. Die Touristen, ich den Weg gezeigt habe. waren aus Australien.
2. Das Bild, er gemalt hat, ist von einem Tiger.
3. Gefillt dir die neue Tasche. du Giber Amazon bestellt hast?
4. Der Tisch. wir gestern gekauft haben. ist aus China.
5. Das Taxi, Farbe rot ist, miissen wir reparieren.
6. Die Lehrerin, uns Musik unterrichtet, ist auch eine bekannte Séngerin.
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Frage 5. Wortschatz [13]

A. Erginzen Sie die Liicken! (Nur 5) (5)
1. Deutschland hat ~ Bundeslander.
% Im Jahr fiel die Berliner Mauer.
3 Der groBte Flughafen von Deutschland ist in
4. Wihrend Adventszeit ziindet man jeden Sonntag eine _ an.
5, Die Stadt Miinchen liegt an der e
0. N _ sind kleine Leckereien aus Zucker. Gelatine und Fruchtsafi
Haribo ist der grofite Hersteller davon.
B. Ordnen Sie zu! (3
[. Kdlner Dom a. Hamburg
2. Reeperbahn b. Miinchen
3. Roland ¢. Koln
4. Zwinger d. Bremen
5. Oktoberfest e. Dresden
C. Ergiinzen Sie! 3)

L. und Ehefrau = das Ehepaar.
2. Deutschland istdas Land der und Denker
3. Zwischen Ossisund gab es grolie U nterschiede.

FrageS.  Schreiben [20]

A). Sie gehen ins Restaurant mit Threm Freund' Threr Freundin. Fragen Sie nach dem
Menii und bestellen Sie das Essen!

ODER

Sie méchten einen Kochkurs besuchen. Fragen Sie Ihren Freund/Thre Freundin. ob er/sie
auch teilnehmen will.

B]. Sie machen Urlaub im Ausland. Schreiben Sie eine Ansichtskarte an Thren

Freund/Ihre Freundin.  Beschreiben Sie die Stadt. das Wetter. die Leute und die
Sehenswiirdigkeiten!

36363t

[S515]Ext.-126 4



Total No. of Questions : 5]

P285
[SS15]Ext.-126

F.Y.B.Com. (For External)
GERMAN

Basic

(2013Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
All questions are compulsory. Use of a dictionary is not allowed.

Frage I. Ubersetzen Sie! |15]
(A) Ubersetzen Sie ins Englische oder Marathi! (10)
1.
A: Hallo! Wartest du schon lange hier?
B: Na ja, schon ecine Stunde.
A: Schon eine Stunde?
B: Ja. Mein Bus kommit nicht und mein Roegenschinn st haputt. Mein H:md}

funktioniert auch nicht.
A: Kein Problem. Mein Regenschirm ist gro8. Und du kannst mein Handy benutzen.
B: Danke schén, das ist sehr nett!

2. Unsere Stadt ist nicht besonders grof3. aber sie ist 700 Jahre alt und ist sehr schén. Der
Markiplatz, die Kirche und das Rathaus gefallen den Besuchern sehr. Seit 1647 hat die
Stadt eine Universitit. Viele kommen hier aus dem Ausland. Ein richtiger Studiumsort!
Nattrlich haben wir viele Restaurants. Kinos. Geschiifte usw. Das Nachtleben gibt es auch.
So ist das Leben hier: interessant und bunt. Leider hat aber die Stadt nicht genug Zimmer
fiir alle Studenten.

(B) ﬁbersetzgn Sie ins Deutsche! (Nur 5) (05)
1. [ have already ordered the food.
2. Do you have a refrigerator?
3. Karin can dance and sing very well.
4. He is swimming in the pool.
5. We usually buy groceries on the weekend.
6. Are you inviting Mrs. Kranz for the party?
Frage I1. [20]
{A)Beantworten Sie die folgenden Fragen! (Nur 5) (10)
1. Was machen Sie am Wochenende?
2. Wie feiert man Ostern in Deutschland?

3. Haben Sie Geschwister? Wie heiBen sie?

5



Was haben Sie gestern zu Abend gegessen”
Sie méchten eine Suppe kochen. Was brauchen Sie?
In welchen Landern spricht man Deutsch?

Wie grof} ist Thre Wohnung?

o= -

(B) Schreiben Sie! (05)
Sie haben im Januar eine Reise nach Italien gemacht. Schreiben Sie eine E-Mail an Thren
Freund/Ihre Freundin und beschreiben Sie Thre Reise!

(C)Schreiben Sie einen Dialog! (05)

1. Sie mochten mit Threm Freund ins Kino gehen. Rufen Sie ihren Freund an!
ODER
2. Sie miissen dringend nach Bangalore fiir Arbeit fahren. Sie kénnen Ihren Sohn von
der Schule nicht abholen. Rufen Sie lhre Frau an!
“Frage II1. Grammatik |35]

(A)Erginzen Sie die richtigen Personalpronomen! (nur 5 Liicken) (05)
1. Ich brauche einen Kuli. Ich finde  nicht.
2. DasHemd geféllt  .Ichtrage  heute Abend.
3. Die Waschmaschine ist schon. Frau Fischer kauft
4. Morgen besuche ich meine GroBeltern.  wohnen in Berlin.
5. Womein Rucksack? - liegt im Schrank.
(B) Ergéinzen Sie die richtigen Possessivpronomen! (nur 5 Liicken) (05)
1. Der Vater fragt  Sohn. Aber der Sohn antworten ~~ Vater nicht.
2. Wannruftihr  GroBeltern an, Jenny und Tobias?
3. Ich habe die Kiiche geputzt. Jetzt mussich _ Zimmer aufrdumen.
4. Istdas__ Katze, Tobias? — Nein, dasistnicht  Katze.
(C)Ergiinzen Sie die richtigen bestimmten/unbestimmten Artikel! (nur 5 Liicken) (05)
1. DerMannisst _ Kuchenund trinkt e, i
2. Rita geht zur Arbeit. Sie fahrt mit _ Bus.
3. Die Lehrerin schenkt Kind Schokoladen.
4. Wirhaben _ Auto schon verkauft.

(D)Schreiben Sie das richtige Modalverb! (nur 5 Liicken) (05)

1. Wir nicht mehr lernen. Wir sind total mide. Wir eine
Pause machen. Aber wir diese Aufgabe bis morgen l6sen.

2. Die Hunde wirklich sehr schnell laufen.
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3
4.

Ich zu Hause bleiben. Meine Mutter ist krank.

ich zuerst duschen oder die Kleider waschen?

(E) Formulieren Sie die Sitze ins Imperativ um! (nur 5)
1,

- T

(F)

w o w

M:hb)l\)v_—-

6.
(G)Bilden Sie Fragen! (nur 5)

G5 b B

Setzt du bitte das Baby auf das Bett?

Stellst du bitte die Flaschen in den Kiihlschrank?
Kénnt ihr bitte ein Liter Milch mitbringen?
Konnen Sie mich bitte morgen um 11 Uhr treffen?
Nimmst du noch einen Kaffee?

Konnen Sie bitte leise sprechen?

chreiben Sie die Sitze im Perfekt! (nur 5)

Sieht der Junge fern?

Herr Henkel zerbricht die Vase.

Sie {liegt am Freitag nach Kopenhagen.
Jeden Montag kocht die Mutter eine Suppe.
Die Frau triumt vom einem Tiger.

Ich rufe dich am Montag an.

Ich lade meine Freunde zum Geburtstag ein.
Der Zug fahrt um 10 Uhr 20.

Seit 3 Jahren lerne ich Deutsch.

Ich finde das Haus schon.

Der Mann hilft dem Kind.

Er ist Arzt von Beruf.

Frage IV, Wortschatz

(A) Was passt nicht?
l.

2
3.
4.
5

Tischler — Maler - Bilder - Arzt

schlecht — nett — wunderbar - prima

rasieren: Barte — Haare — Rad — Luftballon

Bus - Zug — Auto — Fahrkarte

Italienisch — Scheuflich — Chinesisch - Portugiesisch

(B) Schreiben Sie das richtige Wort!

I S

Bruder und Schwester:

Mathematik, Kunst, Medizin:
der Tisch, der Stuhl, das Sofa: T
die Spinne, die Maus, das Krokodil:
die Birne, der Apfel, die Banane:

[5515]Ext.-126 7
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(C)Schreiben Sie 4 Wérter pro Thema! (10)
1. Fest 2. Familie 3. Nacht 4. Sport 5. Deutschkurs

Frage V. Lesen Sie den Text und beantworten Sie die folgenden Fragen! [10]

Liebe Maria

Wie geht es dir? Uns geht es gut. Martin hat jetzt eine neue Stelle und ist in der neuen Firma

wirklich gliicklich. Tina geht seit September in die Schule. Nur ich habe ein Problem.

Du weilit ja, ich habe frither immer gern gearbeitet. Meine Zeit als Sekretirin bei Bosch war
richtig schon. Jetzt bin ich seit sieben Jahren Hausfrau und Mutter und méchte gern wieder
arbeiten. Tina ist am Vormittag in der Schule und ich denke. in der Zeit kann ich etwas arbeiten.
Am Nachmittag will ich zu Hause sein und mit Tina Hausautgaben machen. Sie braucht

manchmal ein bisschen Hilfe.

Gestern habe ich eine Zeitung gekauft und die Stellenangebote gelesen. Zwei Anzeigen waren
interessant: AGFA sucht von 7.00 Uhr bis 9.00 Uhr eine Putzhilfe. Sieben Uhr morgens ist sehr
frilh aber ich denke, das ist kein Problem: Martin kann mit Tina friihstiicken und sie in die
Schule fahren. Er fingt ja erst um 9.00 Uhr an. AGFA bezahlt 210€ im Monat. Das ist nicht viel.

aber da muss ich auch nur zwei Stunden pro Tag arbeiten.

Die andere Stellenanzeige war auch interessant: Neukauf. der neue Supermarkt hier in
Reutlingen, sucht cine Verkiduferin. Der Supermarkt macht um 7:30 Uhr auf. Die Arbeitszeil ist
von 8:00 Uhr bis 12:00 Uhr, also jeden Tag vier Stunden. Neukauf bezahlt ganz gut und ich
kann sogar mit Tina frithstiicken und sie um halb acht selbst in die Schule bringen. Die Stelle als
Verkauferin finde ich sehr interessant. Aber glaubst du. das geht: Vormittags arbeiten, dann zu

Hause putzen, kochen, waschen und am Nachmittag mit Tina Hausaufgabe machen?

Ich habe natiirlich mit Martin gesprochen. Er meint, ich soll nur ein paar Stunden am Tag
arbeiten. zum Beispiel als Putzhilfe. Zu Hause gibt es auch viel Arbeit und Martin ist am Abend

miide. Dann will er nicht mit mir putzen und aufriumen. Was denkst du? Wo soll ich anrufen?

Schreibst du bitte mir schnell oder rufst du mich an?

Liebe Griifie

Deine Sandra

(A) Beantworten Sie die folgenden Fragen! 4)
1. Was war Sandra frither von Beruf?
2. Wie lange hat Sandra nicht gearbeitet?
3. Wie ist die Arbeitszeit pro Tag bei AGFA?
4. Wo kann Sandra als Verk#uferin arbeiten?

(B) Schreiben Sie richtig oder falsch! “@)
1. Martin ist Sandras Mann.

2. Tina kann alleine Hausaufgaben machen.

3. Necukauf sucht eine Sekretérin.
4. Martin m&chte Sandra abends nicht im Haushalt helfen.
(C) Kombinieren Sie! (2)
1. 210 € pro Monat a. arbeiten
2. Hausfrau b. gehen
3. Als Sekretérin c. sein
4. In die Schule d. verdienen

36383t

[5515]Ext.-126 8



Total No. of Questions : 5]

P286

Time : 3 Hours]
g - 1)  @d 997

SEAT No. :
[Total No. of Pages : 3

[S515]Ext.-127
F.Y.B.Com. (For External)
SANSKRIT
Amarabharati (Optional)

STHIERAT

(2013 Pattern)
[Max. Marks : 100

HAETE 3.

All questions are compulsory.
2) IwElmSIT I gUT uT FIAATA.

Figures to right indicate full marks.

Q1) JEeUh! ‘3 AUETe SIvTEl gee 9 9 [QURTe! SivreTel S St iar

ANSIA WINTER .
Translate into English or Marathi any two from Section 'A' and any two from
Section 'B' from the following passages. [20]
fawm - &
Section - A

) T - (g 3EU) HEAT TRt AT |
T - (ESom) i |

IGHE - TS AHGTETE Tt 999 | T8 T huaed HFAdag o aensm
TFA | 7 AR , ACHIT SR ear i d™: Tehi: |

i) wTrUd TUUTITHAl dTgTdid: | SieArawta g aiwteufa: | fafag
TRRUTRHHRAIsSiam: | W weswngre et | scaa Ywnuerr foem fergpen

SqTEAT isll |§| la

A7 ARTEY: 3 T W | e haRae fafauseRRe

TATEITHTHcAaTATATSYaIshat foafeaT |

i)  aTITE WETd: T UiaeY 39 TeSaH ARl aceTuTaiierd: SHTY — ‘3T AT
TEBTEAUS Wehun ekt a 4 fasfa, 3 2" 3 | a1 3 sregfereas feuamea aert
TEBTEUE &I GEAgEa Aietisagh: | TR | Hepul: TTueaTd Weard Ura: | 9
AEfarafiull g srerEreaian dg et SaTaTed o |

PTO.



faum - =
Section - B
i)  SIIAET G THOT GeSATHH ZATIH |
ST hHRTIN TERTHE ST 1 ||
T @ ATt gt wgea: |
AU I T SHTHTCHGIEAT ||
if)  ESTeltg STge Tereelt
e fowan wEiE vy |
TEI0T i =AY W
et @ FHa A g = I
i) Y THHSTEREY Wiy Had GET: | TSI Il Hal ST | TS |9 9
RS: 1|

02) Y@t ‘3’ [aHRTHI SIvTTEl 3gie d ‘T faHrTTdiet ShivTeTe graie TEeH TSR

<.

Explain with reference to the context any two from Section 'A' and any two

from Section 'B' of the following. [20]
fawm - &
Section - A
) heamem wueue: |

i) ETITSERT gRUTRTET WeR=< wRiw |
i) e e qE AensE @ g9 |

faum - =
Section - B
i) ACgUE VTS T SEHCHEHIEAT |
i) A TEeot ag US9 F9 o aHEe T |
i) YT AEUTGEHE WA T dEEdT: W |
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03) w=femfiuiinda’ arud forar. [20]
Write a moral of A=ferafdufieren
ferer/OR
gaHeA o aread forgr
Write a moral of REmI=HRe.

04) ‘Faq guEdel UTeTen a9t forar. [20]
Write a summary of aslesson & @ &g
fera/OR
QAT HIVTAE! 9 TehR TNETERT T .
Explain any three types of gy with example.

Q5) JETR! R i fererereh aiess forel. [20]
Write short notes on any two of the following
) vIEwTEE: |
i) et |

) IGeH: |

1Iv) US|

363636
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